D64 4 A1 HEBE (o Ad : HRADA)

KM 4 g [ |5 (A) | R [ & (B) | HE# | EF(A+B)
T 2, 467 9 2,757 0 2, 806 13 5, 563
T —TH 978 0 892 -5 795 6 1, 687
PR — T H 571 4 539 3 562 1 1,101
e =T H 642 6 697 3 653 2 1, 350
JHPTETIUT H 475 0 494 -1 507 6 1,001
4R T H 329 4 355 4 324 0 679
JHPTHT ST H 299 0 359 -2 383 ~1 742
Lo HT 200 0 198 1 208 1 406
=a 381 3 445 3 455 1 900
T H 1,905 2 1,972 —4 2,012 -6 3, 984
PIHTHT 331 3 331 2 324 0 655
Hh T H 924 0 982 0 956 0 1,938
HT—TH 278 0 346 —/ 393 -3 739
T — T H 324 2 414 —4 428 -3 842
HHT =T H 487 0 662 -12 634 -2 1,296
BT B 298 4 396 0 391 3 787
A 232 -1 257 0 248 -1 505
] = 290 0 347 1 329 -2 676
— K 445 7 452 6 460 4 912
— YV AREH—TH 0 0 0 0 0 0 0
=YAREMTTH 32 0 43 -1 43 0 86
GIEL 108 3 120 0 119 2 239
— Y KHH 5 0 5 0 5 0 10
KH » 5 683 -2 855 1 863 -2 1,718
k4> 4, 520 4 4, 810 -25 4,979 -9 9, 789
IR 4, 662 19 4, 458 -15 4, 535 10 8,993
E A 1,392 -9 1, 494 -11 1,523 -16 3,017
i) 5 0 7 0 6 0 13
EtR—TH 896 5 749 -4 909 -4 1,658
BH5+HHR_TH 1, 092 -3 1, 055 -10 1,119 -8 2,174
EtR-TH 846 1 770 3 826 2 1,596
= LRIUTH 697 -1 682 -3 698 -3 1, 380
ELtRATH 712 1 753 —1 670 1 1,423
& LR TH 0 0 0 0 0 0 0
T 4 T 1,873 5 1, 885 ) 1,783 5 3, 668
¥y —T1H 288 -2 291 -1 292 -1 583
¥y T H 235 -4 247 —/ 242 —4 489
sy o ="TH 432 1 429 -1 451 2 880
¥ U T H 671 -3 645 -6 702 -5 1,347
nr T H 418 2 472 3 495 1 967
mEiT—TH 257 1 299 0 334 -1 633
FAET — T H 575 -1 562 -2 611 -6 1,173
PRI =T H 192 2 184 0 234 5 418
2} 32, 447 62 33, 710 -88 34, 307 -24 68, 017
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